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General Instructions :

(i)

(1)

(i)

(1)

(v)

(vi)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1~8 and 17 -21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

Questions No. 6-10 and 22 -26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each.

Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed

100 words each.

(vii) Answers should be brief and to the point and the above word limits

should be adhered to as far as possible.

Qg 2T

G) @ @vel & g4t 5vT sfardt & | | |
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SECTION A

Qg A

1. Define microeconomics. 1
Afy-ardyme @ uRwmr ST |

2. What is market equilibrium ? 1
TR Uqe § g1 i @ 2

3. Define market demand. 1
SR AT S g dfSe |

4. Give meaning of “Change in quantity supplied”. 1
“gdf wEm # uftEdd’’ @1 Y FaRT |

5. Define ‘Revenue’. | | 1

G’ & gRmer ST |

6. Explain how a production possibility curve is affected when resources
are inefficiently employed in an economy. | 3

gfe ardergeer § WYY ofaT § & 7 & W@ B a 3Wed U9Edr 9% G T
I9E Sl 2 7 HHHET |

7. A consumer buys 17 units of a good at a price of I 10 pei‘ unit. When
price falls to ¥ 8 per unit the consumer buys 23 units. Using the
expenditure approach, what will you say about price elasticity of
demand of the good ? 3

@wﬁm@aqﬂaﬁ?mmwﬁwwnmﬁaﬁw%rmﬁm
fr & T 8 9fd 3o & It @ O a7 23 THEA @iea & | 9 &y & MR
W Y g% B A H HEG @d & R H M w7

58/2/1 | 3 P.T.O.

v o




Note :

e

10.

11.

Giving examples, distinguish between fixed cost and variable cost.

3R] < gC fer @ iR uftedl @ra & dg iR Fasy |

Draw Total Revenue Curve and Marginal Revenue Curve of a firm
which is free to sell any quantity of the good at a given price. Explain.

& G R HEd W aw] B imdﬂlﬂﬂwﬁ?ﬁqarﬂgwm%lmﬁ

duifig o6 3 diiq it o% difew | g9gET |

The following question is for the Blind Candidates only, in lieu of
R. No. 9.

frefofad 597 Fa gy wienfsa & 0 597 9= 9 & ©&F W 8 |

Explain the relation between Total Revenue and Marginal Revenue of

a firm which is free to sell any quantity it likes at a given price.

& W & T HHd W ogw] & R ot wen odun & faw wdw @ | v S g
gyiftg e dinid 9wt & &9 9=y 999ET |

Explain the implication of the feature ‘freedom of entry and exit to
firms’ under perfect competition.

OR

Explain the implication of the feature ‘large number of sellers’ under
perfect competition.

gof wfeRifirar & swarfd “BHT I ¥AW IR fe @ wagar @ foesar &1 gRomm

ShC
qof R % sFta Fkael @ o€ g@r @ R & womm weeRy |

Derive the inverse relation between price of a good and its demand

from the single commodity equilibrium condition
‘Marginal utility = Price’.

U% g% Gqed YA HiHid ST = dma ¥ 9% & dmd S 3@ AT %
a9 fara way T ST | |

58/2/1 | 4

3



12.

13.

14,

Explain how a fall in prices of the related goods affects the demand

for the given good. Give example.

gEfyd aeqell @ FHd $H 8 W & T a%g S AN W F NG uSal g 2
gART 3R IR Y |

What is a supply schedule ? Explain how does change in technology of
producing a good affect the supply of that good.

OR

Define supply curve. How does fall in price of an input affect the

supply of the good using that input ?

qf et @ 2 7 S # ofada @ Rl e @ 9fd W oFn wvE ve
? 7 9ugmE |

G OC)
gfd &k @ gRaTT ST | TE ST & dEd RA HOIH W N FAT H ol
W oaw] & 9fd W T y9E qgd g 7 HEeiEy |

Giving reason, explain the behaviour of total product under the Law of

Variable Proportions. Use diagram.

oftedl STUTl & W & a9 IAE H FGER HRUT <d gC HHIRU |
@ifeag & Y49 Sifsw |

Note : The following question is for the Blind Candidates only, in lieu of

- qe
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®. No. 14.
frfalad gy Facr Ega qiamdal & T 55T @I 14 F T W E

Giving reason, explain the behaviour of total product under the law of

variable proportions. Use a schedule.

ofiedl Ul & M F I=id $9 ST T FIER HRU od gL UHIMET |
A 1 AN HT |




15. Explain the conditions of consumer’s equilibrium with the help of
indifference curve analysis.

FAfHE a favemor it wgEar ¥ 3uMREl S @ I R |

16. Market for a godd 1s in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use diagram.

OR

Distinguish between ‘cooperative’ .and ‘non-cooperative’ oligopoly.
Explain the following features of oligopoly :

(i) Barriers to the entry of firms
(ii) Non-price competition

U I&] H IR Hqad B 8 | 9% & gfd § FH oIt @ | 39 uREadd & &R
TgH dicl YWEl & SEen 99wy | W@ifed & Oy Sy |

g
‘A 3 ﬁuq%?hﬂﬂ ICUTYSR. & &g 3ok JdEe | Aeufysr & fa=fafad
faguaT guEmee |
i) A & I H GHEe
Gi) -Hma s

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 16.

o frefafaa 597 e e ghandal & T J97 & 16 & & W 8

- Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use numerical example.

.@aﬂ%lﬁllﬁll{ggﬂﬁﬁé|3@%’°f‘iﬁ%ﬁ‘$ﬁﬁ’3ﬂ?ﬁ‘%jgﬁq{iﬁﬁq%w
Ugd g Y9El H 4T THYRT | ST 3 g )
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SECTION B

g q |
| y
17. Define ‘capital goods’. . 1
18. Define ‘real’ gross domestic product. 1
Fredfgs’ GHhe e WG & g AT |
19. Define Legal Reserve Ratio. 1
dy srfera ffy e &t wRwmr @ |
20. What are demand deposits ? 1
o SRl ¥ @& sy @ 2
21. What is balance of payments ? 1

TIAE Gqed ¥ 91 3w @ 2

22. What are the components of the current account . of the ‘balance of

payments account ? 3

P Gqer T & ] (Sie) @it & 92 TRy |

23. Explain how ‘externalities’ are a limitation of taking gross domestic

product as an index of welfare. 3

gigRT 5 ffe YoR IR0 WWE FEhA R IR H HeA) i ga% "4 § T
Sl i S '
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24. An economy is in equilibrium. Its consumption function 1s

25.

26.

27.

C = 300 + 0-8 Y where C is consumption expenditure and Y is income

and investment is ¥ 700. Find national income.

@Wﬁigvdﬁ%IWIWWC=300+O-SY§WCW
9 3R Y 7F 7 R 9w T 700 3 | UPE I ¥@ ST |

Explain with the help of examples, the distinction between direct tax

and indirect tax.

IR H TRl ¥ ToI SN Y W H 3 GHART |

When price of a foreign currency rises its supply also rises. Explain,
why.
OR

When price of a foreign currency falls its demand rises. Explain, why.

oo faeht qwr S Siud ag SRt @ guel gfd off ag St @ | guemsy,
|
HYAT

o foRelt W@ W Swd FW @ Sn @ O SHE WU 5g W § | §Hney, uer
i |

Explain the ‘economic stability’ objective of a government budget.

OR

Explain the ‘allocation of resources’ objective of a government budget.

TSR a5 & IifYe forar By 9HIET |

A4l

WEHR T B GEEAT T @A 32T THIEY |
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28. From the following data about a government budget find (a) revenue

deficit, (b) fiscal deficit and (¢) primary deficit : | 4
X arab)
(1) Plan capital expenditure 120-
(11) Revenue éxpenditure 100
(iii) Non-plan capital expenditure 80
(iv) Revenue receipts 70
(v)  Capital receipts net of borrowing 140
(vi) Interest payments 30

@l a5 & ar § fAefafeg sifsel 9 (F) I99 9127, (@) TEHNg "eT 3K
(7) WgfHE =ET I HIET

1)  ASETE S BE @1;3?)
(1) W9 &g 100
(iii) IR-FIETT YEIR S 80
(iv)  orE st 70
(v) 39R BigR Ysirrd it 140
(vi) &S YIdH 30

~ 29. Giving reasons, explain the treatment assigned to the following while
estimating national income : 4

(1) Payment of income tax by a firm

(ii) Festival gift to employees

FNUT S g THRIST ff UPE @ & oA Ha w99 faw
aeR fea ST @

=1L

E)
- |

& T

1) HH g SAFE & P
(i) FHAE & R | IRR
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30. Explain the role of the following in correcting deficient demand in an
economy . | | T

(i) Government expenditure
(11)  Legal reserve
OR

- Explain the role of the following in correcting inflationary gap in an
economy 6
(1) Open market operations
(11) Government expenditure
U rfergter H ervrel HiT W d A frAfaied @ g SHeRy
i) &N =9

ii)  dy rfaa fafy

3T
T e § whfed i @ @ § frefafa @ g geemET
i) Gt IER FRAE
(i) &N Y

31. How do commercial banks create credit ? 6

EEias d% 9rg T 9 &9 & 2

32. Calculate National Income and Personal Disposable Income from the

following : | 6
(X crore)

(1) Personal tax | 150
(ii) Net imports (=) 10
(111) Private final consumption expenditure 700
(iv)  Private income | 600
(v)  Undistributed profit 20

- (vi) Net domestic capital formation 120
(vii) Government final consumption expenditure 200
(viii) Net factor income to abroad (4) 5
(ix) Corporation tax * 100
(x)  Net indirect tax | 105
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- R #3)
@) dafEE W . 150
(i) o I (-) 10
(i) feh oifm sudm =g 700
(iv) frslt 313 600
(v)  3fgaid @ | 20
(vi) freer ey Ot fomfor 120
(vil) TR HAfqw g = | 200
(viii) faeelt = faa sRs (SeF) o1 (=) 5
(ix) fm = | | 100
(x) THaeT TocTet & | 105
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